ARTam

102
Intro

Today we will 7”va learn 3™ q7 of 711 noon
Some of the topics we will learn about include.

The Halachah of

125 Prwsb i

PN

1215 ToNw)

A person who is expecting a child, and he states: I take-on
to be a Nazir if I have a son; if he has a son, he becomes a
Nazir,

The Machlokes oom pynw *a7 regarding

INVR 71297

Ifhis wife had a miscarriage, and there is a poo, a
question, whether

PwTN1), the child was fully developed, OR
PN 9 RS, he was NOT fully developed.

The questions regarding
12°5 RPwsH PN
DY MR IPIAN YWY

A person who states: I take-on to be a Nazir if T have a son.

His friend heard and states: And upon me.
OR

IR IANNIITIAN YWY

The friend states: And I

Does he mean?

1292 RPWHS N

I will also take-on a m11if YOU have a son. OR, he
means

129 RPWHH P10rIn

I take-on to be like you, with a m11ifT have a son
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The Mishnah'’s case of

RURAaT

12°9 Wy T

If a person states: I take-on to be a Nazir, AND to be a
Nazir if T have a son.

And the reverse case of

12°5 W 1IN

P

I take-on m1 for a son and a M1 for me.

And the distinction when

1YW PR AP YN

125 79NN

He began to fulfill the days for his m713, but he had son
before his m711 completed

Some of the terms and concepts we will learn about
include

The Machlokes of py»w »a31 77 '27 regarding the case of
MO IRP T I02 W OR PPN

TARW IN AW NI PN

One who accepts to become a 713 on condition that this
silo contains 100 712 of grain, and he subsequently discov-
ers that the grain was stolen or lost and he cannot verify if
it contained 100 M at the time of his 773;

im0

PN

nm 27 says that he does NOT become a poon 713,
because

RP?OD5 5V RO PO

A person does not accept POON M 7.

DYDY 22N

JOIN

nwnw 27 disagrees and says that he DOES become a 71
»ooD, because

RPO0Y S v ron
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So let's review ...

Zugt Di Mishnah

1205 Prwsb i

19 7m

PN

Ifa person who is expecting a child states: I take-on to be a
Nazirif T have a son;

Ifhe has a son, he becomes a Nazir. However,

nab i

DIPIITIRI DOV

PIIPR

If he has a daughter or a D1 7IRI DOV, he does NOT
become a Nazir.

However;

7519 PPwI IR DR

DIPATITIRI DIOMIV N2 1D TN 10K

PN

If he states: I take-on to be a Nazir if T have a child; then
even if he has a daughter or a D7 7IRI DOV, he
becomes a Nazir.

The Mishnah continues:

MR 7797

Ifhis wife had a miscarriage, in which it is doubtful
whether

PwTN15), the child was fully developed, in which he IS a
Nazir; OR

PwTN125 RY, the child was NOT fully developed, in which
he is NOT a Nazir?

The xnp R0 - which the Gemara identifies as 777 27 -
holds

PIIPR

He does NOT become a 711 pov, because

Rp90Y PWoI WIR DY N>

A person does not accept a poon M.

PY»W 17 says that he DOES become a 711 pov, because he
holds

RPODY 7PWOI VIR D700

A person DOES accept poon mi.

However, the 711 700 has a problem - as Tosfos explains -
1o 731 R RPO0N

ARMIVI NAYAN AV 55 7OR"

He cannot cut his hair and bring the Korbanos to complete
his m1, because if he is NOT a Nazir, his Korbanos are
7712 pom; and without bringing the Korbanos he remains
prohibited in all 713 moR.

Therefore, pynw '27 offers the following solution:

He must become a X7 713, a definite Nazir, by making a
Rin as follows:

RV 12 777 DR

A1 PTCIR D

RS ORI

AATIPIINRIN

If the child was fully developed, I am already obligated for
ami, and I do NOT take-on a new mn. And if NOT,
then I DO take-on a new voluntary m~. This way, after
observing one period of m713 - in which he fulfilled his
obligation Jwo1 71 - he CAN bring the Korbanos.
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. The Mishnah continues:
marulaalis]
PRI 3
If his wife then had another child, a x»>7p 12; nﬂs Tlnﬁ‘n
According to the X»p Nin, he now becomes a X7 733 for @ Ly /’)/'D
the initial Neder, because he did NOT complete a mn bl e { e P
yet.
According to w"1 however, he only becomes a 711 poo for
the initial Neder, because he DID complete a m1 //%‘/é 59 D3/’ 159

already.
Therefore, he must become a *x71 713, by again making a " Pbc WY M2

NIn: For the initiak 73 For the initial 73

f:@;"ﬁﬁf’n’m - He DID complete He DIDN'T complete

mmm aMN1] already aMNTI yet
If the first child was fully developed, the first m713
fulfilled my original obligation, and I now take-on a
second m711 which is voluntary.

He must become a -5/ g
X9 DN éy/@ﬂ n maém?/ @

7273 ORI
N
And if the first child was NOT a x»»p 12 and the first m1 0370 NEHIO O3 NEPID

WY oM HNYD 13 NEHID oH

was voluntary, this second m1 fulfills my original

A
eskel .
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RIN 727 asks about the following situation:

12°9 pwad P1orIn

MR 720

129 wom

A person took-on to be a Nazir if he has a son, and his wife
had a miscarriage. He proceeded to observe a poon m1i
and on the 30th day was w>7pn a 2 for the 1 miaap.
As the Gemara and Tosfos explain, at this point according
to the X»p NXin - who is 177 227 - he was NOT a 1,
because

5pRY MY poo

RPO05 PWOI WIR 5701 RYT

And the 12 would certainly be w17 108, NOT wyip;
However, this case has an added dimension;

T MM

On the 30th day his wife gave birth to another child, a j2
R, from the same pregnancy.

nn

Does this change things and we say;

WITR NP2

And

771201 7732 OR

The animal DID become wipn, and it's forbidden to shear
its wool and put it to work, because

VI PORD

D7 RP7P 12

We assume the first child WAS a x»»p 13, since the
second child is a X 13, because they were both from the
same 77, and he WAS a x71 9137

OR

mnna

WITP IR

7201 72 I

The animal did NOT become w7pn, because

501 WK

RPIP 12210

The first child may have been a 503, even though they
were from the same 177, and if so, he was NOT a 'R71 112

However, there is NO question according to pyn»w 19, and
mnna

POON WITP

The animal attains a questionable w7jn, in which

771201 71732 TOR

Because he holds

R0 WOl WK SN

And he WAS a poon 1

11 - This question remains unresolved.
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The Gemara asks a few additional Shailaos:

MIARD MM 12 700D RV

1279 RPWHS PN

YT IR IPIAN YY)

If a childless person states: I take-on to be a Nazir if T have
ason. His friend hears and states: And upon me.
Do we say?

o]

VWD PNTIR

He refers to his friend’s words, in which he means
1295 RPWIS 130190

I'will also take-on a m7 1 if YOU have a son.

OR

o]

VHWN POV

He refers to himself, and he means

1279 RPWOS P1rIn

I also take-on a m~1if T have a son.

And even if we assume that
M
VWD POV

What would be if

IR INDNRIIVAN YO

The friend states *3xy, and I;

Do we say?

IN)

IORP TWOIR

The word »1x1is even more indicative that he refers to
himself, in which he means

1275 RPWIH PPN

OR

IN)

TIN5 RIT

The word *3x1 means and I love you so much that
1272 RPWIS 1300

1too will take-on m7131if YOU have a son.
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And even if we assume that he certainly meant

1270 RPWS PR YIn

Because

moIN1Y

RN 79 RO

The friend is embarrassed to take-on m~1 for his own
sake in the presence of the childless person.

What would be the Halachah where they are both
referring to a third person?

121595 RPWwHH 11N

11 21N ADRI AN YOWI

The first person states: I take-on to be a Nazir if so-and-so
has a son, and the friend states 18, and I;

Do we say?

1191 ROV

"IN

TWORP PWOIR

When NOT in the presence of the childless person, the
word 13X DOES mean woiR, in which

1275 RPWIS PN

OR

"IN

O PHY RIT

Even in this case he meant

125 RPWIH PPN

v2n - All these questions remain unresolved.
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‘ Zugt Di Mishnah

P17 24

129 vy T 2

Ifa gir_son sta/t::i}g ttall;e—orll\lto l?e a}]l\IaZIirh“ - with no i: S‘) MRS AN Nl Q%

conditions - “ o be a Nazir when I have a son.”

N M 1= "o TS M

E‘5b75‘3 3"”N‘b . hehad Ceforehi I take-on DT “I take-on to be a PT)”
e began to observe his m13, and he had a son before his for ason with no condtions

m1 was completed. ’

Y PR DO and aMNTI “AND to bea »T)

132 50 DR 73D AR for myself when I have a son.”

He first completes 12w m13; and afterwards he observes
12 M1, because, as Tosfos explains;
RWI2 527150 mn

o AR S RAT o AN A Y rnn

He accepted 1ow m first. T: 1'7 -bu 57N ?: ‘5 -‘Su SN
However, in a reverse case in which he states /ﬁj’/f P’ﬁ/ﬂ/
12°9 Pwa e 1o O nt Sy 1 O pte Dy 50y
L P ok Yy P Frk Y 't
I take-on m31 for a son, and a M1 for myself.
Y DR AN SN PR g/’) /ﬁ )
129 TN PN bp yp g
He began to observe his m~13, and he had a son before his
m 1 was completed. Mg =2y
DV DR I
1250 TR P DONE PH OEDE MH5

‘ 5w IR 5wn "IN POV H3M OOV MW
He must suspend 15w mi~t3 and begin counting 132 mt as
soon as his son is born, because
i —— V3 PPN ODEDE INHS PHWIIN HI3M NI
He accepted 112 mm first. PRI D3N WOY NOI WH Then observey the
And afterwards he completes the remaining days of mm oY 59 PIND WL 5179 1P co 15
PO, o 1 W Py
As Tosfos explains
DIV DR YWY RS

PP R DYDY 19I

He cuts his hair and brings Korbanos for both, only after
he completes 15w M. But

12 M1 YWY INRS

PII2IP R POV MO IR

He does NOT cut his hair and bring Korbanos for 132 m~t
after its completion, because then he would have to repeat
ALL 30 days for 5w m13, because

DY o1 1ino MWW N7 PR

A Nazir cannot shave a growth of less than 30 days.

In the first case however, where he first completes M1
Hw, he IS

PO R TN

Because 5w mh is completed;

And he then observes the complete 132 M1
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